ST
" o g ( | ?o} E::;Q@% AT 4)
@ L@fj o 0 ., gmwd:m iy 3 s o [1 oy ,gmﬁ .

W9 bewd 1 e ﬁg ( QWMW @{x u{?‘;&i »*M ﬁﬁ <
_mﬂﬂé}@-sj’, (%) = j@?gg {1} Aoay

@ o g o 0 Hu power 73 Hheb pow Fihocg ThoAeg
/a% ("a,ﬂ = K j&?? () = wé?'@e?{w@f\l K

Lﬁﬁ? PR |

o

C,;{ﬂwﬁ G Qéjﬂ} - é}ggﬁf@ @’W«(JQ g‘af} 3 /g @g’ LR - Lw

"‘Qﬂ?aé‘?



hmills1
Rectangle

hmills1
Rectangle

hmills1
Rectangle


2 g\{,%

“‘1
z

LA e a5 @ %m?ff /&? ? .
B T
11 0. (x8)-_a 3 - b (ﬁ"g‘”} t}ﬁ{xg } {



hmills1
Text Box
11

hmills1
Text Box
12

hmills1
Text Box
13

hmills1
Text Box
14

hmills1
Rectangle

hmills1
Rectangle

hmills1
Rectangle

hmills1
Rectangle

hmills1
Rectangle




hmills1
Text Box
15

hmills1
Text Box
16

hmills1
Text Box
17

hmills1
Rectangle

hmills1
Rectangle


_ %ol [ 4
= - B :*-C"'@-«-- ~ ”Zy/@ fo ¥ deo ;Wm_ﬁp ,ﬁ// ace S
. (a)

L%"m vie, kaed @ %} @.M;tm ’
(1) ‘

Wﬁéﬂ% b, RN “:ﬁ&’" r:?
Qfm{@ﬂ ,ﬁ i‘"’g N Wﬁﬂkﬁg"ﬂ (’%E /

Wl Al "*3’\

19 A, (i)
i _ ,}j ’r% :

N1 =2,865C
MWW,,W‘MW
S@fw? _/10%*\40{ +o k{ {‘{&é’mfw:{‘;ﬁf feve 2 §
20%’"\ .é:n
3&9&"‘“ - o L
l(ﬁ@@eﬁ:f:} = 3.5

f"”gs h
O (6 000! ) BN 2 D (2057)

D (1,000 éi”@é@ éf""*“i A (305

R T
_pﬂ.—mnwmwwﬂ

J(: i W;: {g @WQMEﬂ / Q@‘fr} ’;‘} _/»-'"'“"""
SAK y 224U %

4


hmills1
Text Box
19

hmills1
Text Box
18

hmills1
Text Box
20

hmills1
Rectangle

hmills1
Rectangle

hmills1
Rectangle


[T (Xk’{%

21 . .
CreeY =273 {4 ) =273
= -3 | 3% B
mﬁ 23 <(i*r\}j$’2,?
- L
S C= RS q%w:@,ﬁf
Lo
- r\?f‘m.% - - (%»?}3W. z
o 300061270
w2100 )
hiams
22

1960 —7 g.vq
‘I-L,C’cﬂq-—m——m@ ﬁ,/k’{k

Vmﬂ{ z&j ?AQMJ 11, ﬂmﬂi

/Vf & Qé 1T e f‘”?ﬂ g:g gj gita E:J Gl Qﬂ? ng‘*ﬂf{f{ fjéf s

oot tom gm@&% Q{ P L A, 57

d

Lwt 7 ﬁ'zﬁ(\ Tec::«u [7’!&24 1GGO .

é?’ -
The 1+ LN .49 (1 .«w”x it
Neo w ALooq - 1460 ~ g = = WQT
4 ooy
‘#‘%(%’F\ﬁm%ﬁ”ﬁ %a@w P
W‘!
{4+ (’ =


hmills1
Text Box
22

hmills1
Text Box
21

hmills1
Rectangle


/2 Sﬁ“{:&f

23

Caw poun ﬁ‘wg@ c’“fA (o L Vi UG ff‘}% Ve 7

P@wt = Y9p v

. e C_ < g <————]Should be 459, instead of 5.49.
Mﬁ & ' That explains my question about
, Y ? the final answer, here.
4 . S;_,_.,« That will make the final answer
€ - Y come out smaller, as it SHOULD
be.

f s"«%’?,E
2ol =Ta) e Lyg3u7768
= il ”
WWWQ@ . gWWa
M 1[_@ r‘é’ HZ&{ 5 C}’Q{}’/ " M;MQW%WTMMW{
{2 ‘W g QO e 1,93 fé E%

émvﬁm%ﬂg? ‘o,

Qpntbucud

?mﬁm

See above. Scott
g Corliss spotted the
mistake | made,
here.



hmills1
Text Box
23

hmills1
Rectangle

hmills1
Callout
Should be 4.59, instead of 5.49.  That explains my question about the final answer, here.
That will make the final answer come out smaller, as it SHOULD be.

hmills1
Callout
See above.  Scott Corliss spotted the mistake I made, here.




